## Mathematica Slovaca

Milan Kolibiar; Judita Lihová<br>Modular and metric multilattices

Mathematica Slovaca, Vol. 45 (1995), No. 1, 19--27
Persistent URL: http://dml.cz/dmlcz/131030

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1995

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital Mathematics
Library http://project.dml.cz

# MODULAR AND METRIC MULTILATTICES 

† MILAN KOLIBIAR* - JUDITA LIHOVÁ**<br>(Communicated by Tibor Katrin̆ák)


#### Abstract

A metric multilattice, which is shown to be a generalization of Birkhoff's metric lattice, is defined. A metric multilattice is modular, and a directed modular multilattice of locally finite length is metrizable.


## 1. Basic notions

Let $(P, \leq)$ be a partially ordered set. Given $a \in P$, denote by $[a)=\{x \in$ $P: x \geq a\},(a]=\{x \in P: x \leq a\}$. If $a, b \in P, a \leq b$, then the set $[a) \cap(b]$ will be denoted by $[a, b]$ and it will be referred to as an interval. $P$ is said to be of locally finite length if all bounded chains in $P$ are finite.

For $a, b \in P$ we denote by $a \vee b$ and $a \wedge b$ the set of all minimal elements of $[a) \cap[b)$ or all maximal elements of $(a] \cap(b]$, respectively. $P$ is said to be a multilattice (cf. [1]) if for any $a, b, u, v \in P$ such that $u \in(a] \cap(b], v \in[a) \cap[b)$, the sets $(a \wedge b) \cap[u),(a \vee b) \cap(v]$ are not empty. A multilattice $M$ is modular (cf. [1]) if, whenever $a, b, c \in M,(a \wedge b) \cap(a \wedge c) \neq \emptyset,(a \vee b) \cap(a \vee c) \neq \emptyset$, $b \leq c$, then $b=c$.

If $L$ is a lattice and $a, b \in L$, then the symbols $a \vee b$ and $a \wedge b$ have the usual meaning.

## 2. Metric multilattice is modular

DEFINITION 2.1. By a metric multilattice we mean a multilattice $M$ in which a metric $d$ is given which fulfils the conditions:

M1. $a \leq b \leq c$ implies $d(a, b)+d(b, c)=d(a, c)$,
M2. if $u \in a \wedge b, v \in a \vee b$, then $d(a, b)=d(u, v)$.

[^0]LEMMA 2.2. Let $a, b, u, v$ be elements of a metric multilattice $M$ with $a$ metric $d, u \in a \wedge b$ and $v \in a \vee b$. Then $d(u, a)=d(b, v)$.

Proof. Suppose $d(u, a)<d(b, v)$. Using M2, the triangle inequality and M1 we get $d(u, v)=d(a, b) \leq d(a, u)+d(u, b)<d(b, v)+d(u, b)=d(u, v)$, a contradiction. The assumption $d(u, a)>d(b, v)$ leads to a contradiction analogously.

Theorem 2.3. A metric multilattice is modular.
Proof. Let $a, b, c, u, v$ be elements of a metric multilattice such that

$$
u \in(a \wedge b) \cap(a \wedge c), \quad v \in(a \vee b) \cap(a \vee c), \quad b \leq c
$$

Using M1 and 2.2 we obtain

$$
d(b, c)+d(c, v)=d(b, v)=d(u, a)=d(c, v)
$$

which implies $d(b, c)=0$. Hence $b=c$.

## 3. Directed modular multilattice of locally finite length is metrizable

The following statement is a consequence of $[1 ; 4.5]$.
THEOREM 3.1. A modular multilattice of locally finite length fulfils the condition
(JD) if $a \leq b$, then all maximal chains in $[a, b]$ have the same length.
In what follows, the symbols $l(a, b), l(b, a)$ will be used to denote the length of maximal chains in the interval $[a, b]$ of a modular multilattice of locally finite length.

By [1; 4.741], we have:
THEOREM 3.2. If $a, b, u, v$ are elements of $a$ modular multilattice of locally finite length such that $u \in a \wedge b$ and $v \in a \vee b$, then $l(u, a)=l(b, v)$.

Corollary 3.3. Let $a, b, v_{1}, v_{2}$ be elements of a modular multilattice of locally finite length such that $a \wedge b \neq \emptyset, v_{1}, v_{2} \in a \vee b$. Then $l\left(a, v_{1}\right)+l\left(b, v_{1}\right)-$ $l\left(a, v_{2}\right)+l\left(b, v_{2}\right)$.

Proof. Take any $u \in a \wedge b$. By 3.2 , we have

$$
l\left(a, v_{1}\right)+l\left(b, v_{1}\right)=l(u, b)+l(u, a)=l\left(a, v_{2}\right)+l\left(b, v_{2}\right)
$$

## MODULAR AND METRIC MULTILATTICES

ThEOREM 3.4. A directed modular multilattice of locally finite length is metrizable.

Proof. Let $M$ be a directed modular multilattice of locally finite length. Define a function $d$ on $M \times M$ by

$$
d(a, b)=l(a, v)+l(b, v)
$$

where $v$ is an element of $a \vee b$. According to 3.3 , this function is well defined. It is easy to see that $d$ is symmetric and that for elements $a, b \in M$, one has $d(a, b)=0$ if and only if $a=b$. To prove the triangle inequality, take $a, b, c \in M$, $v_{1} \in a \vee b, v_{2} \in b \vee c, w \in v_{1} \vee v_{2}$ and $v \in(a \vee c) \cap(w]$. We are going to show:

$$
l(a, v)+l(c, v) \leq l\left(a, v_{1}\right)+l\left(b, v_{1}\right)+l\left(b, v_{2}\right)+l\left(c, v_{2}\right) .
$$

Choose $u \in\left(v_{1} \wedge v_{2}\right) \cap[b), p \in\left(v_{1} \vee v\right) \cap(w], q \in\left(v \vee v_{2}\right) \cap(w], r \in\left(v_{1} \wedge v\right) \cap[a)$ and $s \in\left(v \wedge v_{2}\right) \cap[c)$ (see Fig. 1). Using 3.2, we obtain $l(r, v)=l\left(v_{1}, p\right)$, $l(s, v)=l\left(v_{2}, q\right), l\left(v_{1}, w\right)=l\left(u, v_{2}\right)$ and $l\left(v_{2}, w\right)=l\left(u, v_{1}\right)$.


Figure 1.
Therefore

$$
\begin{aligned}
l(a, v)+l(c, v) & =l(a, r)+l(r, v)+l(c, s)+l(s, v) \\
& =l(a, r)+l\left(v_{1}, p\right)+l(c, s)+l\left(v_{2}, q\right) \\
& \leq l(a, r)+l\left(v_{1}, w\right)+l(c, s)+l\left(v_{2}, w\right) \\
& =l(a, r)+l\left(u, v_{2}\right)+l(c, s)+l\left(u, v_{1}\right) \\
& \leq l\left(a, v_{1}\right)+l\left(b, v_{2}\right)+l\left(c, v_{2}\right)+l\left(b, v_{1}\right) \\
& =l\left(a, v_{1}\right)+l\left(b, v_{1}\right)+l\left(b, v_{2}\right)+l\left(c, v_{2}\right) .
\end{aligned}
$$

The condition M1 is trivially satisfied. As to M2, if $u \in a \wedge b$ and $v \in a \vee b$, then $d(a, b)=l(a, v)+l(b, v)=l(a, v)+l(u, a)=l(u, v)=d(u, v)$ by 3.2. This completes the proof.

## MILAN KOLIBIAR — JUDITA LIHOVÁ

## 4. Metric lattices

DEFINITION 4.1. (cf. [2]) By a valuation on a lattice $L$, we mean a real-valued function $v$ defined on $L$, satisfying

V1. $v(x)+v(y)=v(x \vee y)+v(x \wedge y)$.
A valuation is positive if
V2. $x<y$ implies $v(x)<v(y)$.
A lattice with a positive valuation is called a metric lattice.
Applying Definition 2.1 to the case of lattices we obtain another definition of a metric lattice:

Definition 4.2. Metric lattice is a lattice with a metric $d$ satisfying:
L1. $a \leq b \leq c$ implies $d(a, b)+d(b, c)=d(a, c)$,
L2. $d(a, b)=d(a \wedge b, a \vee b)$.
We are going to make clear the relation between these two definitions. In [2], it is proved that, if $v$ is a positive valuation on a lattice $L$, then the distance function $d$ defined by $d(x, y)=v(x \vee y)-v(x \wedge y)$ is a metric. It is easy to see that this metric satisfies also L1 and L2. Hence, if a lattice is metric in the sense of 4.1 , then it is metrizable in the sense of 4.2 , too. Now we are going to prove the converse.

In 4.3-4.13, $L$ will be a lattice, and $d$ a metric on $L$ satisfying L1 and L2. We will construct positive valuations on $L$.

Take any fixed element of $L$ and denote it by 0 . We will use the symbols $a^{+}$ and $a^{-}$for $a \vee 0$ and $a \wedge 0$, respectively. Define a function $v_{0}$ on $L$ by

$$
v_{0}(a)=d\left(0, a^{+}\right)-d\left(a^{-}, 0\right)
$$

We are going to show that $v_{0}$ is a positive valuation on $L$. Let us remind that, by 2.3 , the lattice $L$ is modular, and 2.2 ensures that, if $[u, a],[b, v]$ are transposed intervals, then $d(u, a)=d(b, v)$. We will use these facts.

LEMMA 4.3. The functıon $v_{0}$ satisfies V2.
Proof. Let $x<y$. Then $x^{-} \leq y^{-} \leq 0 \leq x^{+} \leq y^{+}$, and the modularity of $L$ yields that either $x^{-}<y^{-}$or $x^{+}<y^{+}$. Hence $d\left(y^{-}, 0\right)+d\left(0, x^{+}\right)$ $d\left(y^{-}, x^{+}\right)<d\left(x^{-}, y^{+}\right)=d\left(x^{-}, 0\right)+d\left(0, y^{+}\right)$, which implies

$$
v_{0}(x)=d\left(0, x^{+}\right)-d\left(x^{-}, 0\right)<d\left(0, y^{+}\right)-d\left(y^{-}, 0\right)=v_{0}(y)
$$

Lemma 4.4. If $x, y \in L$, then
$d\left((x \wedge y)^{-}, x^{-}\right)=d\left(y^{-}, x^{-} \vee y^{-}\right) \quad$ and $\quad d\left(x^{+},(x \vee y)^{+}\right)=d\left(x^{+} \wedge y^{+}, y^{+}\right)$.
Proof. Evidently, $\left[(x \wedge y)^{-}, x^{-}\right],\left[y^{-}, x^{-} \vee y^{-}\right]$and $\left[x^{+} \wedge y^{+}, y^{+}\right]$, $\left[x^{+},(x \vee y)^{+}\right]$are couples of transposed intervals.
Lemma 4.5. If $x, y \in L$, then

$$
d\left(x^{-} \vee y^{-},(x \vee y)^{-}\right)=d\left((x \wedge y) \vee x^{-} \vee y^{-},(x \wedge y) \vee(x \vee y)^{-}\right)
$$

Proof. We will show that the intervals $\left[x^{-} \vee y^{-},(x \vee y)^{-}\right]$and $\left[(x \wedge y) \vee x^{-} \vee y^{-},(x \wedge y) \vee(x \vee y)^{-}\right]$are transposed. It is clear that $(x \wedge y) \vee x^{-} \vee y^{-} \vee(x \vee y)^{-}=(x \wedge y) \vee(x \vee y)^{-}$. Further, using the modularity of $L$, we get $\left((x \wedge y) \vee x^{-} \vee y^{-}\right) \wedge(x \vee y)^{-}=x^{-} \vee y^{-} \vee\left(x \wedge y \wedge(x \vee y)^{-}\right)=x^{-} \vee y^{-} \vee$ $((x \wedge y) \wedge(x \vee y) \wedge 0)=\left(x^{-} \vee y^{-}\right) \vee((x \wedge y) \wedge 0)=\left(x^{-} \vee y^{-}\right) \vee\left(x^{-} \wedge y^{-}\right)=x^{-} \vee y^{-}$.

Analogously, it can be proved:
Lemma 4.6. If $x, y \in L$, then

$$
d\left((x \vee y) \wedge(x \wedge y)^{+},(x \vee y) \wedge x^{+} \wedge y^{+}\right)=d\left((x \wedge y)^{+}, x^{+} \wedge y^{+}\right)
$$

Lemma 4.7. If $x, y \in L$, then
$d\left((x \wedge y) \vee x^{-} \vee y^{-},(x \wedge y) \vee(x \vee y)^{-}\right)=d\left(x^{-} \vee\left(y \wedge x^{+}\right),(x \vee y) \wedge x^{+} \wedge y^{+}\right)$.
Proof. It is sufficient to show that the intervals
$\left[(x \wedge y) \vee x^{-} \vee y^{-},(x \wedge y) \vee(x \vee y)^{-}\right], \quad\left[x^{-} \vee\left(y \wedge x^{+}\right),(x \vee y) \wedge x^{+} \wedge y^{+}\right]$ are transposed. Due to the modularity of $L$, we have $\left((x \wedge y) \vee(x \vee y)^{-}\right) \vee$ $\left(x^{-} \vee\left(y \wedge x^{+}\right)\right)=(x \wedge y) \vee((x \vee y) \wedge 0) \vee(x \wedge 0) \vee(y \wedge(x \wedge 0))=((x \vee y) \wedge 0)$ $\vee(y \wedge(x \vee 0))=((y \wedge(x \vee 0)) \vee 0) \wedge(x \vee y)=((0 \vee y) \wedge(x \vee 0)) \wedge(x \vee y)=$ $(x \vee y) \wedge x^{+} \wedge y^{+}$. Using again the modularity of $L$ several times we obtain $\left((x \wedge y) \vee(x \vee y)^{-}\right) \wedge\left(x^{-} \vee\left(y \wedge x^{+}\right)\right)=((x \wedge y) \vee((x \vee y) \wedge 0)) \wedge((x \wedge 0) \vee(y \wedge(x \vee 0)))=$ $(((x \wedge y) \vee 0) \wedge(x \vee y)) \wedge(((x \wedge 0) \vee y) \wedge(x \vee 0))=((x \wedge y) \vee 0) \wedge(x \vee y) \wedge((x \wedge 0) \vee y) \wedge$ $(x \vee 0)=((x \wedge y) \vee 0) \wedge((x \wedge 0) \vee y)=(x \wedge y) \vee(0 \wedge((x \wedge 0) \vee y))=$ $(x \wedge y) \vee((x \wedge 0) \vee(y \wedge 0))=(x \wedge y) \vee x^{-} \vee y^{-}$.

Lemma 4.8. If $x, y \in L$, then
$d\left((x \wedge y) \vee x^{-} \vee y^{-}, y^{-} \vee\left(x \wedge y^{+}\right)\right)=d\left((x \wedge y) \vee(x \vee y)^{-},(x \vee y) \wedge x^{+} \wedge y^{+}\right)$.
The Proof is obtained by interchanging the roles of $x$ and $y$ in the previous proof.

Lemma 4.9. If $x, y \in L$, then

$$
d\left(x^{-} \vee\left(y \wedge x^{+}\right),(x \vee y) \wedge x^{+} \wedge y^{+}\right)=d\left((x \wedge y) \vee x^{-} \vee y^{-}, y^{-} \vee\left(x \wedge y^{+}\right)\right)
$$

Proof. It is clear that

$$
\begin{aligned}
& x \wedge y^{+} \leq\left(y^{-} \vee x\right) \wedge y^{+}=y^{-} \vee\left(x \wedge y^{+}\right) \leq x \vee y^{-} \\
& x^{+} \wedge y \leq\left(x^{-} \vee y\right) \wedge x^{+}=x^{-} \vee\left(y \wedge x^{+}\right) \leq x^{-} \vee y
\end{aligned}
$$

Further $\left(x \wedge y^{+}\right) \vee\left(x^{+} \wedge y\right)=\left(\left(x \wedge y^{+}\right) \vee y\right) \wedge x^{+}=\left((y \vee x) \wedge y^{+}\right) \wedge x^{+}=$ $(x \vee y) \wedge x^{+} \wedge y^{+}$, which implies $\left(y^{-} \vee\left(x \wedge y^{+}\right)\right) \vee\left(x^{-} \vee\left(y \wedge x^{+}\right)\right)=(x \vee y) \wedge x^{+} \wedge y^{+}$ and analogously $\left(x \vee y^{-}\right) \wedge\left(x^{-} \vee y\right)=x^{-} \vee\left(y \wedge\left(x \vee y^{-}\right)\right)=x^{-} \vee\left(y^{-} \vee(x \wedge y)\right)=$ $(x \wedge y) \vee x^{-} \vee y^{-}$implies $\left(y^{-} \vee\left(x \wedge y^{+}\right)\right) \wedge\left(x^{-} \vee\left(y \wedge x^{+}\right)\right)=(x \wedge y) \vee x^{-} \vee y^{-}$. Hence the intervals $\left[(x \wedge y) \vee x^{-} \vee y^{-}, y^{-} \vee\left(x \wedge y^{+}\right)\right],\left[x^{-} \vee\left(y \wedge x^{+}\right),(x \vee y) \wedge x^{+} \wedge y^{+}\right]$ are transposed and the proof is complete.

Using successively $4.5,4.7,4.9,4.8,4.6$ and taking into consideration the fact that $(x \wedge y) \vee(x \vee y)^{-}=(x \vee y) \wedge(x \wedge y)^{+}$we obtain (see Fig. 2):

LEMMA 4.10. If $x, y \in L$, then $d\left(x^{-} \vee y^{-},(x \vee y)^{-}\right)=d\left((x \wedge y)^{+}, x^{+} \wedge y^{+}\right)$.


Figure 2.

LEMMA 4.11. The function $v_{0}$ satisfies the condition V1.
Proof. Take any $x, y \in L$, and let us calculate $v_{0}(x \vee y)+v_{0}(x \wedge y)$. By the definition of $v_{0}$, we have
$v_{0}(x \vee y)+v_{0}(x \wedge y)=d\left(0,(x \vee y)^{+}\right)-d\left((x \vee y)^{-}, 0\right)+d\left(0,(x \wedge y)^{+}\right)-d\left((x \wedge y)^{-}, 0\right)$.

In view of L 1 , we have

$$
\begin{aligned}
d\left(0,(x \vee y)^{+}\right) & =d\left(x^{-},(x \vee y)^{+}\right)-d\left(x^{-}, 0\right) \\
d\left((x \vee y)^{-}, 0\right) & =d\left((x \vee y)^{-}, y^{+}\right)-d\left(0, y^{+}\right) \\
d\left(0,(x \wedge y)^{+}\right) & =d\left(y^{-},(x \wedge y)^{+}\right)-d\left(y^{-}, 0\right) \\
d\left((x \wedge y)^{-}, 0\right) & =d\left((x \wedge y)^{-}, x^{+}\right)-d\left(0, x^{+}\right)
\end{aligned}
$$

Consequently

$$
\begin{align*}
& v_{0}(x \vee y)+v_{0}(x \wedge y) \\
= & d\left(x^{-},(x \vee y)^{+}\right)-d\left(x^{-}, 0\right)-d\left((x \vee y)^{-}, y^{+}\right)+d\left(0, y^{+}\right)+d\left(y^{-},(x \wedge y)^{+}\right) \\
& -d\left(y^{-}, 0\right)-d\left((x \wedge y)^{-}, x^{+}\right)+d\left(0, x^{+}\right) \tag{*}
\end{align*}
$$

But $d\left(x^{-},(x \vee y)^{+}\right)=d\left((x \wedge y)^{-},(x \vee y)^{+}\right)-d\left((x \wedge y)^{-}, x^{-}\right)=$ $d\left((x \wedge y)^{-},(x \vee y)^{+}\right)-d\left(y^{-}, x^{-} \vee y^{-}\right)$, and analogously $d\left((x \wedge y)^{-}, x^{+}\right)=$ $d\left((x \wedge y)^{-},(x \vee y)^{+}\right)-d\left(x^{+},(x \vee y)^{+}\right)=d\left((x \wedge y)^{-},(x \vee y)^{+}\right)-d\left(x^{+} \wedge y^{+}, y^{+}\right)$ by L1 and 4.4. Further $d\left((x \vee y)^{-}, y^{+}\right)=d\left(y^{-}, y^{+}\right)-d\left(y^{-},(x \vee y)^{-}\right)$and $d\left(y^{-},(x \wedge y)^{+}\right)=d\left(y^{-}, y^{+}\right)-d\left((x \wedge y)^{+}, y^{+}\right)$, again by L1. Substituting into $(*)$ and arranging we obtain $v_{0}(x \vee y)+v_{0}(x \wedge y)=d\left(0, x^{+}\right)-d\left(x^{-}, 0\right)+d\left(0, y^{+}\right)-$ $d\left(y^{-}, 0\right)+d\left(y^{-},(x \vee y)^{-}\right)-d\left(y^{-}, x^{-} \vee y^{-}\right)-d\left((x \wedge y)^{+}, y^{+}\right)+d\left(x^{+} \wedge y^{+}, y^{+}\right)$. Now, since $d\left(y^{-},(x \vee y)^{-}\right)-d\left(y^{-}, x^{-} \vee y^{-}\right)=d\left(x^{-} \vee y^{-},(x \vee y)^{-}\right)$, $d\left((x \wedge y)^{+}, y^{+}\right)-d\left(x^{+} \wedge y^{+}, y^{+}\right)=d\left((x \wedge y)^{+}, x^{+} \wedge y^{+}\right)$by L1, using the definition of $v_{0}$ and 4.10 , we get $v_{0}(x \vee y)+v_{0}(x \wedge y)=v_{0}(x)+v_{0}(y)$. This completes the proof.

In view of 4.11 and 4.3 , we have
Corollary 4.12. The function $v_{0}$ is a positive valuation on $L$.
Corollary 4.13. Let $v_{0}$ be as above, and let $t$ be any real number. The function $v_{t}$ defined on $L$ by $v_{t}(a)=v_{0}(a)+t$ is a positive valuation on $L$.

The proof is straightforward.
We have obtained:
TheOrem 4.14. Let $L$ be a metric lattice in the sense of Definition 4.2. Then $L$ is a metrizable in the sense of Definition 4.1, too. Moreover, for any $x \in L$ and $t \in R$ there exists a positive valuation $v$ on $L$ with $v(x)=t$.

Proof. Denote by 0 the chosen element $x$ and take $v_{t}$ as above. Then $v_{t}$ is as we need.

## MILAN KOLIBIAR — JUDITA LIHOVÁ

COROLLARY 4.15. Definitions 4.1 and 4.2 are equivalent.
Given a metric $d$ on $L$ satisfying L1 and L2, we can take some of the above constructed positive valuations and the corresponding distance function. What can be said about the relation between these two metrics? And what about the relation between a positive valuation $v$ on $L$ and a positive valuation $v_{1}$ corresponding to the distance function of $v$ ? The answers are given in the following theorems.

TheOrem 4.16. Let $d$ be a metric on a lattice $L$ satisfying L1 and L2. Then $d$ is the distance function of any of the above valuations.

Proof. Take any one of the above valuations, say $v_{t}$. Denote by $d_{t}$ the distance function of $v_{t}$. Then for any $x, y \in L$ we have

$$
\begin{aligned}
d_{t}(x, y)= & v_{t}(x \vee y)-v_{t}(x \wedge y) \\
= & v_{0}(x \vee y)+t-v_{0}(x \wedge y)-t=v_{0}(x \vee y)-v_{0}(x \wedge y) \\
= & d\left(0,(x \vee y)^{+}\right)-d\left((x \vee y)^{-}, 0\right)-d\left(0,(x \wedge y)^{+}\right)+d\left((x \wedge y)^{-}, 0\right) \\
= & \left(d\left(0,(x \vee y)^{+}\right)-d\left(0,(x \wedge y)^{+}\right)\right) \\
& \quad+\left(d\left((x \wedge y)^{-}, 0\right)-d\left((x \vee y)^{-}, 0\right)\right) \\
& \quad d\left((x \wedge y)^{+},(x \vee y)^{+}\right)+d\left((x \wedge y)^{-},(x \vee y)^{-}\right) .
\end{aligned}
$$

Due to the modularity of $L$, we have $(x \wedge y) \vee(x \vee y)^{-}=(x \wedge y)^{+} \wedge(x \vee y)$ and denoting this element by $z$, we can see that the intervals $\left[(x \wedge y)^{+},(x \vee y)^{+}\right]$, $[z, x \vee y]$ are transposed, and so are $\left[(x \wedge y)^{-},(x \vee y)^{-}\right],[x \wedge y, z]$. Hence $d\left((x \wedge y)^{+},(x \vee y)^{+}\right)=d(z, x \vee y)$ and $d\left((x \wedge y)^{-},(x \vee y)^{-}\right)=d(x \wedge y, z)$. Therefore we have $d_{t}(x, y)=d(z, x \vee y)+d(x \wedge y, z)=d(x \wedge y, x \vee y)=d(x, y)$.

THEOREM 4.17. Let $v$ be any positive valuation on a lattice $L$, and $d$ its distance function. Let $v_{t}$ correspond to $d$ as above. Then $v$ and $v_{t}$ differ at most by a constant, i.e. there is a real number $\varrho$ such that $v_{t}(a)=v(a)+\varrho$ for every $a \in L$.

Proof. Let $a \in L$. Then $v_{t}(a)=v_{0}(a)+t=d\left(0, a^{+}\right)-d\left(a^{-}, 0\right)+t=$ $v\left(a^{+}\right)-v(0)-v(0)+v\left(a^{-}\right)+t=v(a \vee 0)+v(a \wedge 0)-2 v(0)+t=v(a)+$ $v(0)-2 v(0)+t=v(a)+t-v(0)=v(a)+v_{t}(0)-v(0)$. It is sufficient to set $\varrho=v_{t}(0)-v(0)$.

## REFERENCES

[1] BENADO, M.: Les ensembles partiellement ordonnés et le théorème de raffinement le Schreier II, Czechoslovak Math. J. 5(80) (1955), 308-344.

## MODULAR AND METRIC MULTILATTICES

[2] BIRKHOFF, G. : Lattice Theory (3rd edition), Amer. Math. Soc., Providence, R. I., 1967.

Received January 10, 1992
Revised February 4, 1993

* Department of Algebra and Number Theory Komenský University SK-842 15 Bratislava Slovakia
** Department of Geometry and Algebra Šafárik University SK-04154 Košice Slovakia


[^0]:    AMS Subject Classification (1991)- Primary 06A99, 06B99.
    ey words. Metric multilattice, Modular multilattice, Metric lattic

